Signature and Name of Invigilator

1.

2.

§olo

Time : 1¥2 hours]

(Signature)
(Name)
(Signature)
(Name)

PAPER -1

OMR SheetNO. : ..........oveeemericceirercrennesseeneines
To be filled by the Candidate)

Roll No.

(In figures as per admission card

1|5

Test Booklet Series

Q

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 60

N

10.
11.
12.
13.

Instructions for the Candidates
Write your roll number in the space provided on the top of this
page.
Th%s paper consists of sixty (60) multiple-choice type of questions,
out of which the candidate would be required to answer any fifty
(50) questions. In the event of candidate attempting more than
fifty questions, the first fifty questions attempted by the Candidate
would be evaluated.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :
To have access to the Question Booklet, tear off the paper
seal/ polythene bag on the booklet. Do not accept a booklet
without sticker-seal/without polythene bag and do not
accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing or
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.
After this verification is over, the Test Booklet Number should
be entered on the OMR Sheet and the OMR Sheet Number
should be entered on this Test Booklet.
The Series of this booklet is Q, make sure that the Series
printed on OMR Sheet is same as that on this booklet. In case
of discrepancy in Series, the candidate should immediately
report the matter to the Invigilator for replacement of the
Test Booklet/ OMR Sheet.
Each item has four alternative responses marked (1), (2), (3) and
(4). You have to darken the circle as indicated below on the correct
response against each item.
Example: ) @ @ (@ where (3)is the correct response.
Your responses to the items are to be indicated in the OMR Sheet
given inside the Booklet only. If you mark your response at any
place other than in the circle in the OMR Sheet, it will not be
evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or put any
mark on any part of the OMR Sheet, except for the space allotted
for the relevant entries, which may disclose your identity, or use
abusive language or employ any other unfair means, such as change
of response by scratching or using white fluid, you will render
yourself liable to disqualification.
You have to return the original OMR Sheet to the invigilators at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are however, allowed to
carry original question booklet and duplicate copy of OMR Sheet
on conclusion of examination.
Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There are no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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Note :

PAPER -1

This paper consists of Sixty (60) multiple-choice type of questions, out of which the
candidate would be required to answer any Fifty (50) questions. In the event of
candidate attempting more than Fifty (50) questions, the first Fifty (50) questions
attempted by the Candidate would be evaluated. 50 Q x 2 M = 100 Marks

1. P and Q are brothers. R and S are sisters. The son of P is brother of S. Q is related to R

as :
(1) Brother (2) Uncle (3) Father (4) Son
2. Inaclassroom, a communicator’s trust level is determined by :
(1) the change of voice level (2) the use of abstract concepts
(3) eye contact (4) the use of hyperbole
3. A Cluster of propositions with a structure that exhibits some inference is called :
(I) An argument (2) An explanation
(3) A valid argument (4) An inference
4. A definition that has a meaning that is deliberately assigned to some symbol is called :
(1) Precising (2) Stipulative (3) Persuasive (4) Lexical
5.  Aspects of the voice, other than the speech are known as :
(1) Personal language (2) Para language
(3) Delivery language (4) Physical language
6. Consider the argument given below :

‘Pre - employment testing of teachers is quite fair because doctors, architects and engineers
who are now employed had to face such a testing.’

What type of argument it is ?

(1)

Analogical (2) Psychological (3) Biological (4) Deductive

7. The next term in the series
2,5,10,17, 26, 37, ? is :

(1)
o

57 2) 62 3) 72 4) 50

N
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e 39 YH-UF § WIS (60) 9g-Tawedta yv €, o 9 Seiear #i fRE ot weme (50) W9 # SR
T B IEHIGIR ERT UemE (50) | ST Y 1 W e W SHICER g fed T wow
T (50) T 1 Fedoh fohal ST | 50 W9 x 2 3Tk = 100 37k

1. PIRQUETFI RANSTEAT!I PHI TASH WE 81 QHIR Y FH1 Haie 82
1) W (2) =T (3) o 4 T

2. FHa Y UH GYUS 1 fovary TR fuif@ ean @
(1) TemS &R % IR 9 (2) STd TAYURMST & TR
(3) TR fham @ (4) SAfeEIfR % g 9

3. LS dehererll 1 GHE, S §o ekt e s €, seen €
(1) T& Th (2) TH TREH
(3) TH Y T 4) T fred

4. refyol gftemen 8 Ge-gHe 3o T % fou e fHan i €, Feam g
(1) uRgsa (2) wW@HfHT IRw™M (3) YEIRN (4) wro-fames

5. S % SN AT % YS! R ST S
(1) Safaqs T & €9 (2) U AW €9 H
(3) foaRo v % w9 H (4) IMORe W o w9 H

6. 1= feu U 9 R fo=m =ifew .

‘forerent o1 AR gd wieror foesgrat Sfa © ifer fafswaren, angsrl @ sthirgmaed, it 59 wua
e € 1 T8 901 1 9 e gl

g fore ToR H1 qh B2
(1) IgEIaH (2) HACIE (3) Sifasw (4) AT

7. TG G i A G F1 B 2
2,5,10,17,26,37, __ 2
57 2) 62 (3) 72 (4) 50

M
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The main objectives of student evaluation of teachers are :

(a) To gather information about student weaknesses.

(b) To make teachers take teaching seriously.

(c)  To help teachers adopt innovative methods of teaching.

(d) To identify the areas of further improvement in teacher traits.
Identify the correct answer from the codes given below :

(1) (b), (c) and (d) only (2) (a), (b) and (c) only
(3) (a) only (4) (a) and (b) only

1
A group of 210 students appeared in some test. The mean of grd of students is found to be

60. The mean of the remaining students is found to be 78. The mean of the whole group will
be :

1) 76 Q) 74 @) 72 4) 80

Anil after travelling 6 km towards East from his house realized that he has travelled in a
wrong direction. He turned and travelled 12 km towards West, turned right and travelled
8 km to reach his office. The straight distance of the office from his house is :

(1) 14 km 2) 12km 3) 10 km (4) 20 km

Every type of communication is affected by its :

(1) Transmission (2) Non-regulation (3) Context (4) Reception

A party was held in which a grandmother, father, mother, four sons, their wives and one
son and two daughters to each of the sons were present. The number of females present in
the party is :

1) 14 ) 18 3) 24 4) 12

Most often, the teacher - student communication is :

(1)  Critical (2) Utilitarian (3) Confrontational (4) Spurious

Using the central point of the classroom communication as the beginning of a dynamic pattern
of ideas is referred to as :

(1) Problem - orientation (2) Idea protocol

Mind mapping (4) Systemisation

=
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forenfofaii g1 forershi & HoAieha & A ¥ © ¢

(a) foenfoial o6t FASIRE & IR | BRI Tha HT|

(b) Torer =1 foreror vl iR & SR 1 W <A

(c) Toreror &} 7 faferai stoam & forerehl 61 @ e |
(d) Torere & TN H IR Afereh UR % &1 1 T8EH ST

T el T e 9 W& IR H =TI Fiv
(1) e (b), (c) 3R (d) (2) e (a), (b) ¥R (c)
(3) ke (a) (4) e (a) 3N (b)

210 BT 1 Tk F9g Fhrdt wien # wnfhe gam| %asﬁaﬂm%zmoww%l Y B 1 1A 78

T S ¥ | q WU T T W1 1 e 2
1) 76 Q) 74 @) 72 4) 80

A 7 T =X W qd 1 fown 7 6 fob. . &t g 79 F & 918 9% weqw fwan o 3o wTerq feen o
T T w7 I% Ao = SiR ufvem =t fown # 12 fR . #1 g 7@ #, IR SR e ot
FHETe Tged & e 8 fm. . 1 g0 7 #1 | STF W Y FEfed HI Hed & et €2

1) 14 T 2) 12 feH. (3) 10 .. 4) 20 ..
A% YR T FIT0 Feqiferd e & ¢
(1) HRd 2) W-fafemad (3) wHed 4 (4) FIhwET 9

T UTet SAifSra i e fored g, fodn, oran, =R ¥, ST uferdi SR Ud 79 % Tk [A TE <
gt sufeerd 1 et # sufeera nfeensi #t Hen feat 2
(1) 14 2) 18 (3) 24 4) 12

forerer - TITY Y BT R
(1) foa=aTs (2) SUATTAETRT (3) UfdETeT® (4)  STgTHIfOTR

foramil o TRl Jef i BT o foTT et HUul 1 ke foawg o &9 H TR Headl ©
(1) FHE-IHER 2) fo=R ea
3) wf&sn fosm (4) HIEAIH
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If the proposition ‘No men are honest’ is taken to be false which of the following proposition/
propositions can be claimed certainly to be true ?

Propositions :
(I) Some men are honest (2) Some men are not honest
(3) No honest person is man (4) All men are honest

The next term in the series :
B2E, D5H, F12K, H27N, ? is:
1) 162Q (2) Q62 (3) 158Q (4) J561

Consider the following assertion (A) and reason (R) and select the correct code given
below :

(A) : No man is perfect.

(R) : Some men are not perfect.

(1) Both (A) and (R) are true and (R) provides sufficient reason for (A).

(2)  (A) is true but (R) is false.

(3) (A) is false but (R) is true.

(4) Both (A) and (R) are true but (R) does not provide sufficient reason for (A).

Attitudes, actions and appearances in the context of classroom communication are considered
as :

(I) Non-verbal (2) Impersonal (3) Irrational (4) Verbal

Among the following propositions two are related in such a way that they can both be true
although they cannot both be false. Which are those propositions ? Select the correct code.

Propositions :

(a) Some priests are cunning.

(b) No priest is cunning.

(c)  All priests are cunning,.

(d) Some priests are not cunning.

Codes :

1) ©and(d (2 @and(©  ©G) @and(d 4 (a)and ()

=)}
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1)
o

afg qehaTe {IE el TR el § i Tetd W STl § o freferfad qehares/qeharern § 9 fha
Ffeeaede 92 89 1 e foran ST Hehar § 2

aﬂmm:
(1) Fo oTeH MR | (2) TS CH THMSR 7 B |
(3) I SATMGR =AfH STeHT TeI | (4) | oTeHT SATER © |

39 ST 1 STTAT TS =T BT 2
B2E, D5H, F12K, H27N, __ ?
(1) 162Q (2) Qe62] (3) 158Q (4) J561

Frefafea Ifuere (A) 3R e (R) W =R IS R U 1T %2 ¥ W& SW &1 =999 FIT
(A) : =7 oTeH! gl 7l T

(R) : FS TeH U T8l 1

(1) (A) 3R (R) I T2 ¥ 3R (R), (A) & foIu o qoh Tqd 3l © |

2) (A)F@ T, T (R) 39 |

(3) (A) A T, W (R) T T

4) (A) I (R) IFT T & W (R), (A) F U vt qh T&qa Tel Fa S

FHefl HUw0T % Hed ¥ aegiad, Sl ud yhed ol e €9 H FHe S € ?

(1) eAefesh OAREERIESED (3) oTET™ (4) i

frefafEa qehameri § <1 39 dE @ Gt & foh 9 S 98l 21 Gohd @ J=i9 9 <1 TTeld el ol Tehd § |
q THATH HIY § 7 W& F T FIAT HIfC

AehaTeH ¢

FD R 8d 3d ¢ |

(b) =IE S od T8l Bl |
() Tt TRl o B T |

d) T IR YA TR B R |
%< :

)
)

(c) &R (d) 2) (@) IR (c) (3) (a) 3 (d) (4)  (a) 3R (b)

N
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Given below in the table is the decadal data of Population and Electrical Power Production of
a country.

Year Population (million) Electrical Power Production (GW)*
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
*1 GW =1000 million watt

Based on the above table, answer the questions from Sl. No. 20 to 25.

20. In which decade, the average power availability per person was maximum ?

(1) 1991-2001 (2) 2001-2011 3) 1971-1981 (4) 1981-1991

21. Average decadal growth rate (%) of population is :
(1) ~9.82% (2) ~6.73% B) ~5% 4) ~12.21%

22. In the year 1951, what was the power availability per person ?
(1) 200 W (2) 400 W (3) 500 W (4) 100 W

23. By what percentage (%) the power production increased from 1951 to 2011 ?
(1) 300% (2) 600% (3) 900% (4) 100%

24.  Which decade registered the maximum growth rate (%) of population ?

(1) 1971-81 ) 1991-2001 (3) 2001-2011 4)  1961-71

25. Based on the average decadal growth rate, what will be the population in the year 2021 ?
(1) 3849 million (2) 3728 million (3) 36.62 million (4) 40.34 million

oo | VAN I
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Frtafaa arfeent ® <91 &t STaTd 3R fomra StaTe & g9TehTTa 3tiehe fau T ¥

T stael (fuferm ) fere[a Seqres (7 =) *
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
* 1 7 g = 1000 fufaa ae

Iuder ATfeTeRT oh TR UT Y9 |EAT 20 | 25 & I ST |

20. fwa <o o, ufd =afeq forpa 1 iiga Sucreua qaifyen of ?
(1) 1991-2001 (2) 2001-2011 (3) 1971-1981 (4) 1981-1991

21, TSRl 3AHd TUF I R (%) FR?
1) ~9.82% Q) ~6.73% 3) ~5% 4) ~12.21%

22. 991951 H, fd =afea forqa 1 Iucreudn forat off ?
(1) 200 o (2) 400 T (3) 500 4) 100 T

23. T¥ 1951 ¥ 2011 % = fera wiaera & faga Sceq  9fg g€ €2
(1)  300% 2) 600% (3)  900% (4) 100%

24, SEE 1 HAfaE Ilg T (%) fha e § <& A W 2
(1) 1971-81 (2)  1991-2001 (3) 2001-2011 (4) 1961-71

25. i o gig T F STYR T a9 2021 § STeet fohat gnft 2
(1) 3849 fafama  (2) 3728 fufem (3) 36.62 fafermw  (4)  40.34 fafeA
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29.

30.

31.

(1)
o I

Assertion (A) : People population control measures do not necessarily help in checking
environmental degradation.

Reason (R) : The relationship between population growth and environmental
degradation is rather complex.

Choose the correct answer from the following :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  (A) is true but (R) is false.

(3) (A) is false but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Which of the following enables us to send the same letter to different persons in MS Word ?
(1) Mail copy (2) Mail insert (3) Mail merge (4) Malil join

Public Order as an item in the Constitution figures in :
(1) the State List (2) the Concurrent List
(3) the Residuary Powers (4) the Union List

The grounds on which discrimination in admission to educational institutions is constitutionally
prohibited are :

(a) Religion

(b) Sex

(c) Place of birth

(d) Nationality

Select the correct answer from the codes given below :

(1) (a), (b) and (¢) (2) (a), (b) and (d)
() (@), (b), (c) and (d) (4) (), © and (@

NMEICT stands for :
(1) National Mission on E-governance through ICT

(2) National Mission on E-commerce through ICT
(3) National Mission on E-learning through ICT
(4) National Mission on Education through ICT

Which of the following pollutants can cause cancer in humans ?
Mercury (2) Lead (3) Ozone (4) Pesticides

)
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26. AR (A) : TAHE A0 & UM § AR €I § ARV G hl Ueh | ACG el THerd!
gl
qh (R): SEE gig iR Taievia g % o & gy Sied g
fr=fafad @ 9@ W &1 999 HIfT
1) (A) 3R (R) I A §, TG (R), (A) FT T TR T T |
2) (A) 9F B, T (R) 3T9A &
(3) (A) A T, W (R) §A T
4) (A) 3R (R) 3H A T 3R (R), (A) FT T& TR |

27. fr=fafad # 9 =19 6 T & 99 &l TH.TE. 9 | fafis st o1 9om § w9 omman €2

(1) Ha st (2) U9 TES (B) Ta S (4) WA SETEA
28. Hfaym # t A &% ¥ § ik g fAfafga § 9 foead oy &2

1) THEgAH (2) G9adl g=ft d

(3) et vl | (4) wHaEHH
29. Sreiforen Heenedi § yow | TR SRl W fhu S 91et 9eTda k1 Haenfae w9 @ foy fomen man €2

(a) o

(b) fem

(c) ST

(d) e

= ST T e # ¥ W& I & F97 HIWT

(1) (@), (b) 3 () (2) (@), (b) 3 ()

(3) () (b), (o) ¥R () 4)  (b), () ¥R (d)

30. TAUHLSE I w1 red T

(1) v faee T 3-wertg o omE. wha,
(2) A faeE S - o e
(3) Ay faee T $-af g omE wA,
(4) TeEA fHeH 7 TheE g oTE E AL

31. f=fafad § @ f9 Jgus & FRO AFa HT FIR & Fohdl ¢ 2
1) 9™ (2) Hrm (3) 3iSA (4) HIAH

(
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Which of the following statements are correct about Lok Sabha ?
(a) The Constitution puts a limit on the size of the Lok Sabha.

(b) The size and shape of the Parliamentary Constituencies is determined by the Election
Commission.

(c)  First - past - the Post electoral system is followed.

(d) The Speaker of Lok Sabha does not have a casting vote in case of an equality of votes.
Select the correct answer from the codes given below :

(1) (a), (b) and (c) (2) (@) (c) and (d)

(3) (@) (b) (c) and (d) (4) (a) and ()

The term of office of the Advocate General of a State is :
(1) 5 years

(2) 6 years or 65 years of age whichever is earlier

(3) not fixed

(4) 4 years

Which among the following States has the highest number of seats in the Lok Sabha ?
(1) Rajasthan (2) Tamil Nadu (3) West Bengal (4) Maharashtra

At present, in terms of per capita energy consumption (kWh/year), identify the correct
sequence.

(1) Russia > China > India > Brazil (2) Russia > China > Brazil > India

(3) China > Russia > Brazil > India (4) Brazil > Russia > China > India

Which of the following phenomena is not a natural hazard ?
(1) Lightning (2) Landslide
(3) Chemical contamination (4) Wildfire

Which of the following are the objectives of Rashtriya Uchchatar Shiksha Abhiyan
(RUSA) ?

(a) To improve the overall quality of state institutions.

(b) To ensure adequate availability of quality faculty.

(c) To create new institutions through upgradation of existing autonomous colleges.
(d) To downgrade universities with poor infrastructure into autonomous colleges.
Select the correct answer from the codes given below :

(1) (a), (b) and (0 (2) (@), () and (d)

(3) (@), (b) and (d) 4) @ ®), © and (d)

oo | IV I 1
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ek | & Fay H frafafad § § :H-9 w9 96 €2

(a) Wfau™ ¥ @ 991 % USH! H! W& H HA TI FTE T

(b) HEE fatem &E % oI R fratem s gr freifa fva < €1
() TER-URE-T Ure et Jomet ST9mE Sl § |

(d) T % TEE WA H feafa o cwgaeet % ag fotas 7a T g § )

= QU 7T Fe § ¥ WE W &1 =TT HIT

(1) (), (b) ¥R (c) 2 (), (o) 3N (d)
(3) () (b) (0) ¥R () 4)  (a) ¥R ()
T T4 & HRITYeer 1 HdehTel 2l @ :

(1) 5ad

(2) 6TH AT 65 AW HY Y ST o TEA &

@) Tauifa & €

(4) 4d

frefafed o= & 9 fve ToF &1 o 991 § ®e 1 §e1 gaitys § ?

(1)  TTEAH (2) dferrg (3) Hf¥=m e (4) HERTE
T H, gfd safed 9t @ua (felt g Her/ad) & Ged §, Wt %9 &t 9ga™ Hife |
(1) ®F>M > 9Rd > Fsid (2) ®F > M > dSd > 9Rd

() = >®H > 9w > 9Rd (4) dSid > &9 > = > 9Rd
frefafed & @ S-S T Whfds Ta Té@ § 2

(1) fosteft Sigm (2) FETH

(3) TEmEfTR G (4) <@

T 3= fran i (R TE.T) % Fefarted § 9 701 32w § 2

(a) HIRRI GEAR Sl FHY U H GUR KL |

(b)  T[UTETYUl WMl i T ST GAITd HTAT |

(c) TAHN W HEIraneral & o3 o HIEaH § 8 eATd iod T |

(d) ST FATHEAT T fagafamimerl 1 e Herfaserdl § ST & |

= ST 7T e § 9 & S| H =TI HIWC
(1) (@), (b) 3R (c) 2) (), (o) ¥ (d)
(3) (a), (b) ¥R (d) 4) (a), (b), () ¥R (d)
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38.

39.

40.

41.

42.

43.

o [

In a Computer a byte generally consists of :

(1) 8 bits (2) 16 bits (3) 10 bits (4) 4 bits

As part of National Climate Change Policy, Indian government is planning to raise the
installed capacity of renewable energy by the year 2030 to :

(1) 200 GW 2) 250 GW (3) 350 GW 4) 175 GW

Inside rural homes, the source/sources of Nitrogen Oxide Pollution may be :
(a) Unvented gas stoves

(b) Wood stoves

(c) Kerosene heaters

Choose the correct code :

(1) (b) and (c) only (2) (b) only

(3) (a), (b) and (c) (4) (a) and (b) only

Which of the following is an open source software ?
(1) Windows (2) Mozilla Firefox
(3) Acrobat Reader (4) MS Word

Which of the following is not an input device ?

(1) Keyboard (2) Joystick (3) Monitor (4) Microphone

Which of the following is an instant messaging application ?
(a) WhatsApp

(b) Google Talk

(c) Viber

Select the correct answer from the codes given below :

(1) (b) and (c) only (2) (a) only
(3) (a), (b) and (c) (4) (a) and (b) only
TR 1




38. TUH HIY H T a5 H HHRIG: A 8 ¢
(1) 8 feazm (2) 16 fozH (3) 10 foeH (4) 4 fozg

39. U™ Soar] iadd Hifd & 96 & ®9 §, YRA TR &1 a8 2030 Toh TR0 el i gefud
&I 1 el A% TG i AT § 2

(1) 200 GW ) 250 GW 3) 350 GW 4) 175 GW

40. IO SR H, AN SHHISS IGUU H1/F FIG & Tehdl &/ FHA § ¢
(a) g T =t gfaurfea i e

(b) T weEl

() fiet da =t Ex

WA Fe H T HINT

(1) o (b) &R (c) (2) I (b)

(3) (a), (b) 3R (o) (4) A (a) 3R (b)

41. fr=fafed & @ =9 oo 9" giweam €2
1) fae= (2) TSI RRRE
(3) T T 4) THTHTE

42. Trfafed § @ = fawh (s79e) feama 7@ 22
1) wEe (2) At (3)  HiHX (4) TTEHIRME

43. Tr=fafed § @ #19 t sode TAST Ty = 2

(a) EEHTT

(b) T TH

(c) =R

1= ST 7T Fe ® | WE W FH =TI FINT

(1) et (b) 3R (c) (2) O (a)

(3) (a), (b) 3 () (4) e (a) 3R (b)

oo INUIHHIIIA
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44.

45.

46.

47.

48.

Which of the following are the characteristics of a seminar ?
(a) Itis a form of academic instruction.

(b) It involves questioning, discussion and debates.

(c) Itinvolves large groups of individuals.

(d) It needs involvement of skilled persons.

Select the correct answer from the codes given below :

(1) (b) and (d) (2) (b), (c) and (d)
(3) (@), (b)and (d) (4)  (b) and (0

Which of the following attributes denote great strengths of a teacher ?
(a)  Full-time active involvement in the institutional management

(b)  Setting examples

(c) Willingness to put assumptions to the test

(d) Acknowledging mistakes

Select the correct answer from the codes given below :

(1) (b), (c) and (d) (2) (@), () and (d)

(3) (), (b), (c) and (d) (4) (), (b) and (d)

Which of the following statements is not true in the context of participatory research ?

(1) It emphasises on people as experts.

(2) Itis a collective process of enquiry.
(3) Its sole purpose is production of knowledge.
(4) It recognizes knowledge as power.

Which of the following statements is true in the context of the testing of a hypothesis ?
(1) It is only the null hypothesis, that can be tested.

(2) Both, the alternative and the null hypotheses can be tested.
(3) Both, the alternative and the null hypotheses cannot be tested.
(4) It is only the alternative hypothesis, that can be tested.

Which one of the following statements is correct in the context of multiple - choice type
questions ?

(1) They are less objective than essay type questions.
(2) They are more subjective than short-answer type questions.
(3) They are more subjective than true-false type questions.

They are more objective than true-false type questions.

Q0 HIHHI|||||||H\||\|H\||!|||I\IHIINIHIIIHH|||\||\|“||H||H|||\ 1



44.

45.

46.

47.

48.

frafafaa & @ wH-+1 fHeE AR =1 fagman €2
(a) I TH STHGHF STIRYH FHl THR T |

(b) TTH Y HLA, 9= TS - faare i © |
() TTH =AfFE % oS Te MAd 2 ¥

(d) =HH FCEgH AfHEl F1 Wi w1 SATTLIHRA gl & |

e feu T %2 @ WE ST H I R
(1) (b) 3R (d) (2)  (b), (c) 3R (d)
3) (a), (b) &R (d) 4)  (b) &R (c)

frefafed & & F-®0 @ T fRat fnees wt oSt qekd #1 gefifd #d §2?
(a) HEIFTA Ya&H | qUickIiaen Hisha Hicraal

(b)  3<TELUT T HLT

(c) STEUNUNS & Tero & feTy aem

(d) TAfaEl hl TEHR HEA

2 fou 7T F2 W WE W F1 T HIC ;
(1) (b), (c) 3R (d) 2 (@), () IR (d)
3) (), (b), (0) &R (d) ) (a), (b) &R (d)

frefafad § & ®F-91 w7 Feur STIEuH & ded § 9 & 72
(1) 38 Sl ! fomiog 7MY | SR <@ 7

(2) 8 4 &I TH WHfew iR B

(3) ST THAH LTI T H1 A ¢ |

(4) ¥E IE H v F F9H U= R

frafafed & & -9 Fua fodt uRemean & wieo & w9y § wer 872
(1) ¥ %ad Ta IRewed ¢, T wliemn foma s a2 |

(2) Shfeuss TS T ST IRFHTAIS BT T fomA S Hehall B |

(3) denfeuss TE T ST Ufeheuall 1 qdteror &l fohar S wehar 7
(4) IE HaA dHfeqsh IRHeT T, et s foran S wehdt g

freafafad § @ $H-91 Fuq Tg-fawed TR & e & e § wd@t 72
(1) 3 frea 9t e i o B w9 S B ©

(2) o Y- T T I gor | sifern SAfwiTS € €

(3) d WEI-TIeTd ST YA i g # sifyess s @ €

(4) 3 HE-TTd o FEHI ht gor | S T e ¥

oo | RTHAA NI 1 Pt



49.

50.

51.

52.

53.

What are required for good teaching ?

(a) Diagnosis

(b) Remedy

(c) Direction

(d) Feedback

Select the correct answer from the codes given below :

(1) (a) and (b) (2) (b), (0) and (d)
(3) () and (d) (4) (@) (b) (c) and (d)

Which of the following are the basic rules of APA style of referencing format ?
(a) Italicize titles of shorter works such as journal articles or essays

(b) Invert authors” names (last name first)

(c) Italicize titles of longer works such as books and journals

(d) Alphabetically index reference list

Select the correct answer from the codes given below :

(1) (b), (c) and (d) (2) (9 and (d)

(3) (), (), (©) and (d) (4) (@) and (b)

Ethical norms in research do not involve guidelines for :
(1) Copyright (2) Patenting policy
(3) Data sharing policies (4) Thesis format

What are the characteristics of Continuous and Comprehensive Evaluation ?
(a) It increases the workload on students by taking multiple tests.

(b) It replaces marks with grades.

(c) It evaluates every aspect of the student.

(d) It helps in reducing examination phobia.

Select the correct answer from the codes given below :

(1) (b)and (d) (2) (@), (b) and (©)

(3) (b), (c) and (d) (4) (), (b), (c) and (d)

A researcher is interested in studying the prospects of a particular political party in an urban
area. What tool should he prefer for the study ?

Interview (2) Questionnaire (3) Schedule (4) Rating scale

1)
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49. 31=3 fraqor o foru sm-=Rn emiferd €2
(a) Trem
(b) STER
() frew
(d) wfagfte
= ST T e ¥ WE W H =TI HIWT
(1)  (a) 3 (b) (2)  (b), (0) ¥R (d)
(3) (o) ¥R (d) 4)  (a), (b), () ¥R (d)

50. frefafed § @ ®F-%F TR et F g yew & qava from §2?
(a) BRI FHfaAl S SHA i@ sterE fay, & s faer we fag
(b) eI W Il e ford (3AfaH M Te)
(c) N Hfdal S T T S, & Mo st wk fag
(d) Hev g gfaftedi w1 quigswa § gt i

T fou 7T F2 W WE W F1 T HIC ;
1) (b), (c) ¥R (d) ) () ¥R (d)
3) (), (b), (0) &R (d) (4)  (a) 3 (b)

51. 7= & 9 forees forw oy & R deeh areni & feenfids wfter =& € ?
(1) TATHHRR (HITRIE) (2) Tue Hifa
(3) =1 v Hifa (4) 3 ey

52. Hqd Td SAUE Jedihd i foaemar w=-=1 § ?
(a) TG TS TN F FRU BEH *F HEAYR H gig w1 § )
(b) IE WTih! i e F Fiawenfyd w71
(c) UE B & oIS U8T I oA il ¢ |
(d) I% T8 & S HH H H TR Bl © |
T foU T Fe ¥ TE IR FT T FIWC :
(1) (b) 3R (d) ) (a), (b) 3R (o)
(3) (b, (o) W (d) 4)  (a), (b), (o) 3R (d)

53. TUH STIEUHSAl [hEl TEL & H T i <ol fauis 1 Huramieii & 7e997 3 395 &1 39
I T [T ITHI ! FLIaT <1 =TT ?
1) HRIehR (2) AT (3) SrHE (4) TruRor Ao

(
oo | RTHAA NI 1 riro.



54. Greater the handicap of the students coming to the educational institutions, greater the
demand on the :

(1) Society (2) Teacher (3) State (4) Family

55. As Chairman of an independent commission on education, Jacques Delors report to UNESCO
was titled :

(1) Millennium Development Report

(2) Learning : The Treasure Within
(3) World Declaration on Education for All
(4) International Commission on Education Report

Read the following passage carefully and answer question numbers 56 to 60.

I did that thing recently where you have to sign a big card - which is a horror unto itself,
especially as the keeper of the Big Card was leaning over me at the time. Suddenly I was on the
spot, a rabbit in the headlights, torn between doing a fun message or some sort of in-joke or a
drawing. Instead overwhelmed by the myriad options available to me, I decided to just write :
“Good luck, best, Joel”.

It was then that I realised, to my horror, that I had forgotten how to write. My entire existence
is “tap letters into computer”. My shopping lists are hidden in the notes function of my phone. If
I need to remember something I send an e-mail to myself. A pen is something I chew when I'm
struggling to think. Paper is something I pile beneath my laptop to make it a more comfortable
height for me to type on.

A poll of 1,000 teens by the stationers, Bic found that one in 10 don’t own a pen, a third have
never written a letter, and half of 13 to 19 years - old have never been forced to sit down and write
a thank you letter. More than 80% have never written a love letter, 56% don’t have letter paper at
home. And a quarter have never known the unique torture of writing a birthday card. The most
a teen ever has to use a pen is on an exam paper.

Bic, have you heard of mobile phones ? Have you heard of e-mail, facebook and
snap chatting ? This is the future. Pens are dead. Paper is dead. Handwriting is a relic.

“Handwriting is one of the most creative outlets we have and should be given the same
importance as other art forms such as sketching, painting or photography.”

Answer the following questions :
56. How many teens, as per the Bic survey, do not own a pen ?

(1) 560 ) 500 3) 100 (4) 800

57. According to the author, which one is not the most creative outlet of pursuit ?
(1) Photography (2)  Sketching
(3) Reading (4) Handwriting

oo | IV I 2



54. Seifore Sl H ST AT BT Rl ST STETE ST, St 1fee STde
(1) wESHEM (2 Fremdd 3) I (4) UfER & g

55. e & & § T WA AN & AAe F ®9 H ISR & TG F T iy feard w1 Ul @
Tits o :
(1) Tocfem saaure fal
(2) @fin: g R fafeq
(3) dce feiyM 3 TIH¥H ®R 31fa
) SSTINMA hHIUYH S ThvH R

4

FrAfafEa e & AaUrgdes Ufeq 31K 56 | 60 T % YIHI & IO ST :

T € H B el T el STl U 98 1€ W EEIER HH 8 § SR T8 M T o H U
G €, fadrae Sefeh 36 a2 1S 1 R B SR 1 gol o1 | H ot vEt frafa # o, S ewdiv
Teh GO A1 faigqul Ha1g 9 $197el 39—k AL STREH & otd IUSeA ol fEufa | g9 oI 3ucrey
T fashedl @ eifaed B §9 7@ fam =1 fofa faan e o, 31k ©, i

et Bt qeft H9 Heww foran f6 § @ fae & y@ ™ ) A0 @ A aeg § e W
TeRl 1 el " e ¥ B R O W EE & e g ¥ fodt ¥ afe g3 B a1 A w) STevdehan
Tl T, @ H ST Y Y E-AA A A g | 99 § o G- four H wed X w1 g § @ 7 STt e e
TS | IS FS 39 TG 9 ¢ 58 # duei % = wha &3 § aifer Sh01 ¥ sHat Sarg o fag s1fe
gfaurse g 9 |

AEET fagaretl gRT 1,000 fHR oTctehi o Taeror |, foae 3 9 fof 96 109 9 s foreii &
T SO FAH TR, 3TH 9 WA A @ w0 TR faen B @ 139 19 96 % g a9 & ond fRni
1wt off a1e T TR T R @ 9SSR g=yare w1 uH fed | 80% @ ek fReIRl A A heft oft #E Im
T3 &l @, 56% o SR W TS 61 HETS T8l &1 91 & TH-TIE i d STqfed & he fa@d &l e
STEHd 1 s SRR &1 721 g3 | 3ATaeh § 31ferer afs forelt forsiR =l shetd o 91T o1 SATaearehdl g8 dl o8
ot odeT 99 79 &1 SR fora

foreh, 3R QA heft HiaTed ®F % TR W gA R ? g -7, HEaH SR T =fén & an # g
T2 I wufosa 1 HerH 1 ST AN KIS T SHAT T | g 37e TYiae W TR |

“ FAR U BEOTE A Taifieh IeiHeeh 1fyeafed € aen 38 Yartes (WhfEn), fesent steen wieh
JE] AT F 3T Tl K e THH Hed e s =nfen )’

Frefafaa uet & s difsa -
56. fo@ % wdem & SR, fohdd Aol & U9 S Fom & 72
(1) 560 2) 500 3) 100 4) 800

57. WES & IR, frAfafed § & & w1 w1 gaitys geqres Afyeafa @ 8 ?
(1) TRRITH (2) Y@= s (FRiE)
T (4) TG

(3) Te
oo | RTHAA NI 21 riro




58. The entire existence of the author revolves round :
(a) Computer
(b) Mobile phone
(c) Typewriter
Identify the correct answer from the codes given below :
(1) (a) and (b) only (2) (a), (b) and (c)
(3) (b) and (c) only (4) (b) only

59. What is the main concern of the author ?

(1) That the teens use mobile phones.

(2) That the teens use computer.
(3) That the teens have forgotten the art of handwriting.
(4) That the teens use social networks for communication.

60. When confronted with signing a big card, the author felt like “a rabbit in the headlight”.
What does this phrase mean ?

(1) A state of pleasure (2) A state of anxiety
(3) A state of pain (4) A state of confusion
-00o0-
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58. TS 1 WUl T & 3o et 7
(@) FHR
(b) HEEA ®IH
(c) TEWER
= T T e § W& W A =TI FiS
(1) e (a) 3R (b) 2) (a), (b) ¥R (0)
(3) e (b) AR (c) (4) e (b)

59. W@ & A foar F1 §?
(1) T fR9IR Hemget ®F %1 ST 39 |
2) TF fReIR FTge &1 SHET H
(3) T fFoR sere &1 Fal qa ™ ¥ |
(4)

o foreiR T=R ¥ At Jeaedh o1 ST H T |

60. TH 9 FHIS T TEIER HA S o1 2, A @ i Tty & fonelt wamer’’ S 19 gat | 39
TS 61 1 7 T 2
(1) 9= i feufd (2) gfv=ar =i feafa
(3) e = feafa (4) g i fefd

oo | RTHAA NI 2 Pt



Space For Rough Work
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